Y
-1
A= a1l

ARSIERH M F-2A#A A10z gl whet 3l
AAE 202295 A2RF 7187 diit RO 202349 JitS

2 32022, 12, 19.~2022. 1. 19.(202 o]Ah

T A e FFLQARRAIE A

o ALS|EX|HQl A=35] &u|o]|X] (http://sdw.or.kr)

o AP E A AR BA|AE AATHhttp://www.wAc.go.kr)

ole
ol
H
r o,
i
Ral
r
o
ozl
=



= 0£9'LZ 0£9'LZ 020°LL ¥Z€'sl Y0E'y
= 0£9°Le 0£9°LZ 2Rix 0z0'LL vZe'sl v0E'y
- 0£0°S 0€0°S 1alc 78 Inlrlo = 958°9L 958°9L
= 0£0°S 0€0°G 2l & InlRlo| - 958'9L 958'9L
- 0oL 0oL - - -
= 00L 0oL - - -
- 0LL‘'09 0LL'09 009'6 00v'PE 000'7SE
- 0LL‘09 0LL'09 009°6 00%'7i7e 000'7SE
- 009°€l 009°€l - 00Z°0l 00zZ'0L
- 009°€lL 009°€l - 00Z'0L 00Z'0L RLERE
= OvE'Ly ove'Ly RS 0ge 072’612 055'61Z
& 000'6 000°6 rrER 0ge 0zz'6le 085’6l RTETH
0l6'L - | 06L's2S 00L°L2ZS lrf2 T3 000'€ 000'2Z 000'SZ RLEIRTR | RLERS
0l6'l -1 0€S°L8S Oiri7'€8S 000°€ 000°2Z 000°GZ x¥ic
0L6'L -1000'889 0L6'689 g 0l6'L 000°889 0L6'689 ke €
(v-9) (@)ivlo (V)ivlio (v-9) (9)ivio (¥)ivlo
= = i
ze 1¥2 |eeoe | x| |eeoe g {xg Begcoe | {x| Feceoe
Z v S Iy

i
%
o*
ul

H
ml

‘Bliy Ficeoe




008y 0£9°LZ Bl el ¥Zrol 006 #2€'Sl
I 2 X{O 0T =
1o )\.Wn.
008'% 0£9°LZ ERE i ol 006't ¥Z€'Sl
0£0°'G 0£0°S 3lz /& |rlAlko 9G£°6 00S°L9 9589/
0£0°'S 0£0°s 3lc & Irlrlo| 95€°'6 00S°L9 958°9L
00l 00l =1 - - -
ERR
00L 001 ZixR - - -
L8665 0LL'09 lnRvia 009'8l 000°€9¢ 00F '€
L86'6S oLL'09 ARy 009°8L 000°€9¢ 00% 7€ RLERS
009°€L 008'8 e Ziv iy - 00Z'0L 00zZ'0L
00L'EL 009°¢l IRSFZiviy |- 00zZ°0L 00z'0L RLERE
G208y OFE' LY RS LOv'E L8977z 0zZ'6le
0006 000°6 I LIY'E 189222 0zz'6lz RETEXH
Gz €SS 061°GZS lARzio IRy 000°¢ 0002 00022 RPtERH
0LZ0L9 0£5°18S 000°€ 000°'GZ 0002Z TR
L8Z'€69 000889 ke £ L8Z'S L82'€69 000889 k2
(v-9) (a) (V)ivllo (v-9) (9)iv (V)ivlo
= T = ir
e RE202 Fce0z 7e Fez02 e YA
=% 3 Ik

ofd
=l
oF
ud

EEEEly -Gy TEFEC0C




